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Describe the dis/continuity o the functlors (X 2)
X+ 2

fO) == (x—'s)(x+z) (x+s)(x\-5)
F has removablc Alscor\bnwﬁcs @ X=-2. ,-5

£ has non-femovable discntinghes@ X= 5 ,-3

w05-2)v(-2) 5)v(s; °°>

$ 15 continuous oL (- N

—2x , x <2
f(x)_{x2—4x+1, x> 2

‘2(?.) s _1—
AT 4941 = -3
'P ‘r\as 17,3 non—wf\nmble él's(ar\'ﬁnu;yv

@ X=2 .
£ \s contnuaus on (>2*(, °<)
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Y = ZS‘XK
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$(a(N) = (x-| Je
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53. £ =[x~
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| 4 cont.
|ntermediate Va\ue—’heorenrk

I £ is conbinuous on the closed

infecvall [ayb] and ks any

Number betoeen £@ o £(b)

Yen there is ot least one number

¢ 0 1:“)‘:; such that f()=R
S R

__
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)VT can Suqrau\{'ee, ZQVOS!
G £(&) & £(b) are oeeos‘&c g;3,\5>

Ho. £0)=X"+3x-2 ) [o, q
does INT quarantee Hrat £las any 2505 in s
inerval <

f(oy = -2 Gsfw‘_ kv
'F(l): | +3-2 = ‘Zgy ) zag"‘r )
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8. FO)= "+ -l;an [1,3]

£0) --‘rftang <0 \{5 \\l’r

a.3.b
x (\)‘(CS a
£(2): _34’ tm-g- >0 S“N&

~ .08

Bt F(0=x-Lx+3 _ [0,3]

does INT auaraw'«fe a gero?

-P(o) 8 gyes
£(3)=3 -6(3)+§ = -\
H yes, whaf is it T

X“-x + 8 = O

(x=4)(x2)=0
{2
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6. Fo=Xx [3,4] fo-0
does |\NT 3uar~\+ee a C_e[/, ﬂs{ £l Q?

s At .3 Brss
R
'Y-<+> = 4;-:(1-- —230 >(¢ -
Nes | INT guarant™ Such 2
X4y _
.
X = (o (x~1)
X7.+ X = (a)("é \}v/g\cms
K=S%X*=0
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